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PART I: WRITTEN RECEPTION (70 points)
(ACCESS TO INFORMATION FROM WRITTEN TEXTS)
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Below are two texts: Text 1 and Text 2.
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Read Text 1 and then answer questions 1-4.
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Text 1

TOO MUCH TRAFFIC

I In many cities in the world today, heavy traffic on the
roads is a serious problem. There are too many cars on the
roads, especially in the morning. As a result, many people

are late for work and children come late to school.

I One morning, Dr. Gupta from India was driving to
work, when he suddenly had to stop. Traffic was even worse
than usual because there were heavy rains the day before.
As a result, there was a lot of water on the roads. He was
very worried because he knew that there were many sick

people waiting for him at the hospital. They needed his help.

IIT Dr. Gupta found an original way to get to work on
time. He decided to leave his car at the side of the road.
Then he ran three kilometers to the hospital. Luckily, he

managed to arrive on time to help his patients.
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A road with heavy traffic
Photo by C. Robinson
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QUESTIONS (31 points)
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(Mmpa 31)

Answer questions 1-4 in English according to Text 1. In question 1, circle the number of the

correct answer. In questions 2, 3 and 4, follow the instructions.

1. What is the serious problem in many cities today? (paragraph I)

i)
ii)

Traffic is too heavy, especially in the mornings.

Many people have no cars to get to work on time.

iii) Some children don't go to school every day.

2. According to paragraph II, why was traffic worse than usual?

(7 points)

ANSWER. L. e e e e e s a et e e s s aaes

3.  Why was it important for Dr. Gupta to get to the hospital on time? (paragraph II)

(8 points)

ANSWER: L.t e e e a e e e e e s aaaes

4. How did Dr. Gupta get to the hospital after he left his car? (paragraph III)

(8 points)

ANSWER. L. et e e e aa e e s s anaes
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Read Text 2 below and then answer questions 5-9.

I

Text 2

TEACHING CHILDREN TO COOK

Today, there are cooking classes in some schools. In cooking classes, pupils learn fun ways

to use healthy foods, especially fruits and vegetables. The children like to eat the healthy things

they cook. Experts say that parents should also teach their children to cook at home.

II

But not all parents think that teaching children to cook is a good idea. Dan worries about his

5 children. "Sometimes cooking is dangerous for children," he says. "For example, children must boil

water to cook pasta." His wife Nancy agrees with him about the danger. She also says, "When children

cook at home, I have to clean the kitchen after they finish cooking."

11X

It is true that there may be more work for the parents when children cook in the kitchen. But

there will also be happy memories when parents and children cook together. Also, children enjoy

10 making things, like a vegetable pie, for their family and friends. This makes them feel proud of

themselves.
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QUESTIONS (39 points)

N
>XA l’-{;” /

(MTI73 39)

Answer questions 5-9 in English according to Text 2. In questions S, 7 and 9, circle the number

A

of the correct answer. In questions 6 and 8, follow the instructions.

32U

[}

~

XA

What do we learn in paragraph 1?
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Which fruits and vegetables children like.
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Why experts teach cooking classes.
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iii) What children learn in cooking classes.
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What example does Dan give to show that cooking can be dangerous? (paragraph II)
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(8 points)
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What do we learn about Nancy from lines 677

\

She doesn't think cooking is dangerous.
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iii) She doesn't want her children to eat pasta.
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(7 points)

(8 points)

Give an example of something children like to make for their family and friends. (paragraph III)
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One benefit of teaching children to cook at home is that (—). (paragraph III)
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parents will have less work

N/

\

children will have more friends

iii) children and parents will have good memories
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PART II: SPOKEN RECEPTION (30 points)
(ACCESS TO INFORMATION FROM SPOKEN TEXTS)
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Instructions
You are about to hear a listening passage. It will be an interview.
* The interview will be played TWICE.
* Before you listen to the interview, read questions 10-15.

* It is best to start answering the questions only after you listen to the interview the first time.
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QUESTIONS (30 points)
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Answer questions 10—15 according to the interview you have just heard. In all the questions, circle

the number of the correct answer.

WRITER FINDS HIS SECOND GRADE TEACHER

10. Why did Steve come to the program?
i)  To talk about his teacher.
ii) To talk about a special young boy.

i11) To talk about the books he wrote.

11. What did Mrs. Lang do for Steve in his first year in America?
i) She took him to school every day.
ii)  She found a good teacher for him.

iii) She helped him learn English.

12. Why did Steve want to meet Mrs. Lang again?
i)  To give her a book he wrote.
ii)  To thank her for all her help.

iii) To tell her where he lived.

13. What did Steve do to find Mrs. Lang?
i) He wrote her many letters.
ii) He told people that he was looking for her.

iii) He visited the schools where she taught.

9 Ty

/10 Toya qwnn/

\/'\’ N
-
Z
<y
P d
oy

«
W

P,
D
N,
-

N
JIG
(54
\
X
<

/ -~ (‘
w4
e \
YRS 2K

_‘,‘...\.
N7
L d

Z IN=) 2~
S

L} \/’ ;- 7
\/,_.-
U<

W

N7

Vi Xl 4

YR
~
/N
/>
S
2/
\
- I d
DRSAS
2y

Ay

7

-

<Nv¢
e

S

\'\’\"\:/
L'
QY N\
2%
Z
o
4]
~ \,\




N/
/_} /\/‘ 73

NN
S
J
/.
/

-~

o

12U

A
Sl

132U

AN IZHARS
LTSN
\\
\/
/
-
2

NN 12/
Y54

12U
P

VAR
4l

1\/’\1 i{ 22U
J
/.

N\

DTN
NZAYEAN)

[\\ ~ =\

/ a//’ ,\\/
AR,

I/\

D

lr =t/ DN
— >
— >

/.

NN
//‘-[

\
’.

v
L

2127/

NN
//‘-1

132U

NN
//'-1

/7\
’Q

N
[P
-~ =1~
/.

INNNIr =12/
Rl S
'l
Z

1
/N>

NALS
/

12U
<=
X

../i\‘

-
30

/—
/.

TN

A

S
~

X

NS

S

\

- ]
&
SN

gl |
ST
- /.

ES:
IL\
',
/-
==
s

Jd
7

-
'-.;-\\
-\ <\
7
)
(/4

G
7\7 72
[\\, \’/7l /
LaE>
S
’
/\

A
\‘
X

~
A
J
/.
/7
A
/

)
-

!

>y
\

~
£

-
~
N
-
=l g~
\
~
\
-

\
'.‘\

]
N

Z
,/..}~

M7,
I~\// />
'~

N\
\
<

Jd
7

\\

)y
N

I\
/

-
r; \ \*,
TR Y
PA,

/.-} P

N
A

-

N
4

7 AN\
=\
74"/
O
(/74

—

N
-

700
7, -

QY
-\

s\

\‘
-

7

=\

-—
7,
AYEA
~
7~
e
P4
AN

Cd
L
(/74
—

Z

U

A
\/ Y

._.
/
=\

N
~>
S
Cd
N
yA

//’
=\

\
N
"~

~\

-~
=

-\‘
=,
7
/7~
ly
1<

A
&1
>
72,
\
~
L

Sl sl ) g3 3555 5 21 IINNTTIEEEHI

10 a3man noeb Noanh nYIYY 97 PYYN

'R0 ,016381’010 2”9vN VP ,TPDIN

14.

15.

Why was it hard for Steve to find Mrs. Lang?

i)  Nobody knew where she was.
ii)
iii) Nobody wanted to help him.

He couldn't find her old friends.

How did Steve meet Mrs. Lang again?
i)  He visited the library where she worked.
ii)

iii) Her husband invited Steve to their home.

Mrs. Lang came to hear him talk about his books.
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